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2 AN T EREEEE S - (AR ?
(A) X - (X+Y)=X
B) X- (Y+2)=(X- Y)+X - 2
C) (X+Yy=X - Y
(D) X+X - Y=X+Y
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(A) 20ms (B) 200ms (C) 20ns (D)200ns
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5. 256KB HJ RAM » HjEaafirik £ 10000H » A& RAr4E £y
(A). 4FFFFH; (B). 13FFFH; (C). 2FFFFH; (D). 40000H
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FHaEERAEE R (CHFRAEFIES (DIFFRC T —(EZZ e THYTE < ik
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(B) ‘& CPI(cycles per instruction)sg i1 - FEx I T 2R IR
(C) & IC(instruction count)s& il » A2 =T 2R RE IR
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instruction)=25; (D) MIPS =40
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11. MYUBEEREE ISR C B S UmaEstat © (A) if (temp) ;

(B)if (temp!=0) ; (C)if (temp=>10) ; (D)if(!temp)
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f(A,B,C,D)=X (1, 2,3,4,5,7,8,9,
AL R EE R E, Lx?ﬁ%%*““ 2
») (L s T 2B D)
(B) Literal Cost (L)=8
(C)Gate Input Cost(G)=10
(D) Gate Input Cost with inverters(GN)=14
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(D) VU{E FAFEEK ripple-carry

11, 12, 13, 15)

= AT

+



R L FRies
110 5 B AL GBES 23~ F 43 AN

14 . What does function Fun do in general?
void Fun(int n)
{
Stack S; // Say it creates an empty stack S
while (n > 0)
{
push(&S, n%?2);
n=n/2,
}
// Run while Stack S is not empty
while (TisEmpty(&S))
printf("%d ", pop(&S));
}

(A) Prints binary representation of n in reverse order
(B) Prints binary representation of n

(C) Prints the value of logn

(D) Prints the value of logn in reverse order

15. What is the time complexity of the following code fragment?

for(inti=0;i<10; i++)
for(intj=1; j <= N; j++)
for(int k = N-j; k < N; k++)
cout << i <<*”<<j<<endl

(A)O(logN)  (B)O(W®) ~ (C)O(N) (D) O(N?)
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16. Consider the following pseudo code.

int queue[6] ={ }, front =0, rear = 0;
int main()

{

intarr[8] ={2,6,9,4,3,8,5, 1};
for(inti=0; i < 8; i++)

addq(arr[i]);
return O;
}
void addg(int item)
{
rear = (rear + 1) % 6;
if (front == rear)
if(item % 2 == 0)
front = (front + 1) % 6;
else
rear = (rear + 1) % 6;
queue[rear] = item;
}

What is the value of queue[2]?
(A) 6 (B) 8 (©)5 (D) 1

17 . Which of the following statements is incorrect?
(A) A non-circular single linked-list can be a tree
(B) A connected graph is a tree
(C) If agraph has no cycle, it must be a tree or forest
(D) A graph has one node and zero edge can be a tree

18. Consider a 2-dimension integer array arr[4][4].

Which of the following is not equal to arr[2][3]?
(A) *(*arr+11) (B) (*(arr+2))[3] (©) *((*(arr+2))+3) (D) (*arr+2)[3]
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19. Given a PUSH sequence and a POP sequence.

Which of the following statements is not true?

(A) PUSH123;POP123; It mustbe aQueue

(B) PUSH123;POP321; It mustbe a Stack

(C) PUSH 1;POP 1; It must be a Stack

(D) PUSH 12 3;POP231; ltis neither Stack nor Queue

20 . Consider the pseudo code for permutation.

void perm (list[],i,n)

{
if(i==n){
for(j=1;j<=n;j++)
printf(list[j]);
}
else{
for(j=i;j<=n;j++){
swap(list[i],list[j]);
I* please complete this line */
swap(list[i],list[j]);
}
}
}

The blank should be (A) Perm(list, i+1, n); (B) Perm(list, i+1, n+1);  (C) Perm(list,
j+1,n); (D) Perm(list, j+1, n+1);

21 . The postfix expression, 6 12 + 3* 3 -/, is equal to
(A)0 (B) 1 (C)3 (D)12
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22 . What is the time complexity of function F?

int F(int * a, int x, int left, int right) {
if (left <=right) {
int m = (left + right) / 2;
if (x <a[m])
return f(a, x, left, m-1);
else if (x > a[m])
return f(a, X, m+1, right);
else
return m;

}

return -1;

¥
(A)O(logn) ~ (B)O(n)  (C)O(nign) (D) O(n)

23. What is the postfix expression of infix expression ((3-k)+2(m+4))/(p*(a-b)).
(A) 3k-2m4++pab-*/
(B) 3k-2m4*++pab*-/
(C) 3k-2m4+*+pab-*/
(D) 3k-2m4++*p*ab-/

24 . After inserting the following integers into an empty max heap, what is the leftmost node
of the resultant max heap?
40 0156080 751055045
(A) 15 (B) 5 (C) 80 (D) 20 (E) None of above

25. Which of the following is a legal max-heap?

(A) {67, 45, 19, 22, 43, 16}
(B) {67, 43, 19, 22, 45, 16}
(C) {14, 18, 27, 19, 63, 48}
(D) {45, 22, 67, 8, 34, 52}

26 . Consider the conversion of the infix expression a/(b+c*d)*(e-f)+g to its postfix form.
What is the maximum number of tokens in this stack at any moment during the
conversion?

A2 (B3 (©4 (D)5



